8.2aSolving Systems of Equations Algebraically

There are two methods fo solve a system of equations algebraically:

i. Substitution Method
ii. Elimination Method
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e Substitute the expression into the other equation and solve for the remaining variable
e Substitute that value into one of the equations to find the value of the other variable.
*the variables should make both equations true
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IT. Elimination Method

 Rearrange terms so that like terms line up

» Create opposite coefficients for the variable that occurs only once by
multiplying one or both equations by a constant

* Add the equations together to eliminate one variable and solve for the
remaining variable

» Substitute that value into one of the equations to find the remaining
unknown variable
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*the variables should make both equations true when substituted in.
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Ex.5 Use any method fo solve: (Explain wh chose to use that method)
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| Assignment: p451 # 1, 2, 3abce, 4abe, 5a, 6, 7
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